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Ll

In the circuit diagram shown above, the readings

of voltmeter and ammeter respectively are
(A) 6V 3 A iB) 3 V. 6 A
(Cy12v,. 3 A D) 12V 124

2. Forthe shown displacement-time graph, the average
velocity of the body in 10 seconds 1=

E
|
B 20] —
B 3 &8 10
Tirme (5]
(A) 20 ms (B} 13 m's
35
(L) — m's (D) Zero
K

3. Magnetic ficld pattern in a regron 15 as shown below
The needle of a magnetse compass will be deflected
most when placed at point

a8
(A) A (B} B
icy C i D

leds
aun fEwrd mh LIIII'-{!mu 1 Wiceney g arfrey @
urgalE FE e —

(A A Y3 A (B} 3V, oA

Cr1l2Vv.3 A (D) 12 % 12 A

AT 4w T feenT= |Rg Oh # o 10

spe W AT T HTH PIRAT —

E
B
% 20
=
B 3 B 10
Time (5]
(A) 20 ms (B} 13 m's
35 _
() T m's (D} Zero

g fid w et F grEwm e fwmm oTm #)
e A v e W gt e A
g @ 5 wed o i eef -

LT
wl}
M il L

o -

=)
(A} A (B} B
) (D) D
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4.  Samc nct force 15 appled on two different objects | 4. W7 GEAET m RO 3m U WM AW @O @
of masses moand 3m. If x and v are the magmitudes 81 afy x ey g o el @ s #
X
fhay i g fizl X
of their acccleration respectively, then the ratio v 1 ? OB RV 1 e —
will be (A) ] :3 By1:1
(Chy 31 ()9l :
5. 2 ke TEE @ #f uF Fftas sad |
5. An obpect of mass 2 ke is dropped from a certain QT _I:_h Tlﬁ T‘iﬁq 3 ’ _
height. On rebounding from the ground. o rises LU IR L B R ol s
A
b | Fl
vertically till %Th of its imtial height. The ratio of R W e Eth T 3T AT &,
magnitude of momentum of the object just before ol A @ eRwiE W T & die ued a
and after striking the ground is A% Wl & O S FE —
(A) /25 (B) 5:42 (A 245 (B} J5:./2
() J3:45 (5 3 () J3:45 M J5.453
6. A bov runs on a circular track of radius 20m and | 6. ©E @@ 20m FBrem & i oww d§ ofy @
stops afler covermz one sixth of the track, The g o g gl g oW s W UR @ @
magnitude of his displacement will be Rhds s B A 1 # ot wed Pran @ gt
{A) 20x m (B) 20 m I -
(A) 20m m (B} 20 m
‘ E 0%
(€) 40z m .57 (C) 40% m (D) ——m
7. A gun recoils when a bullet is fired from it Which | 7. 9 U@ awgm @ el aElt @ B o @ g
of the followang ssfare true wrl this statcment? ) AR W §| W we FE A W W wEe
() This phenomencn can be explained on the basis BT I ﬁ;;r v E"r—ﬂﬁ o .
of Newton's third law of motion. (A e S5 ¥
(b} The magnitude of momentum: of gun 13 greater o Bl
ag i (b) TF & T A UREW W W H
than that of bullet ot W wEm B
(¢} The magnitude of momentum of bullet is greater (o) Tl @ Wi @ ufEm TEE @ oW @
than that of gun. aftr W afer €
(d) The magnitude of momentum of bullet and that (d) AT T THF WA F AR O
of son are equl, BT
(A) {a) & (d) (B) {a) & (b) (A) {a)} & {d) (B} {a) & (b)
(C) ia) & (c) (D) Only (b} (C) fa) & () (D) Only (b
SPACE FORROTCITWORK
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8. A girl of mass 40 ke takes a staircase of 15 steps, 8. ©E 40 ke wEmE @ osat Rt w15
cach nf'hmght I0 em. 0f she utilizes a power of 80 aadl & wen wede fafe @ w9 20 cm & oY
;.II:.T: l:lllfl‘.lhl':":il: :t.i_i‘TWE the time taken by her is = PR 999 ET 9UEET @ :E"F sirem =F

ake g = 11 m/s® X :
. 80 W £ o 9ue g 59 foiedl w =me | form
(A) 30 s (B} 40 & T W O F [Take g = 10 mis?)
(Cy43s iy 15 s (A) 30 s (B} 40 5
(C) 45 5 (D) 15 5

9. Tm:.n -::}]p]:n..':r “-jmj,bﬁ ﬂ.ndj Ejlﬂzjﬂmi]r! ::.mslhs- 9. o FOT o AT AT B F P At SERI
sectvonal arcas i the rmabe | ;2 engths m Lhe [ [ . 5
ratic 2 ¢ | respectively. The ratio of the resistivities 1125 Ty T WAL
of A and B-will he 5"1"-& 8115 B4 5 T L U B —

(A1 4 iB) &1 (A)1:4 (B) &1
(Crd i (iCrd .1 { ) N |

10. A positively charged particle going castvards cnters | 10, 0 SFICRE a3 a0 v W gt 6 @
a region of uniform and perpendicular magnetic GICECE bl 'I‘r' fem @t am i e &
field. I the particle is deflected vertically upwards, TS 41 A WA T § )AL AE SO
the direction of magnetic figld is & FN T 9 S T e e E W@

w6 W e mm e -
iA) Southwards (B} Northwards (A) glEm "f’"'_ MG (B) WA A T
(C) Due west (D Vertically downwards (C) Ofd=m &7 T (D) FEkw AR # W

11. The magnetic ficld inside an ideal solenoid carnang | 11, afE v ai¥=afera 4 a0 ov=] Faa am gafa
CONSLANG AON-ZERD Current is 1 wwh & ° oAt @ i aufen gEam
TN e b2 4 ) o

’ MITorm ATy
1 Tl -

12, Choose the pair of quantinies having same umi “t} Proey B} s
(A} Power and cnergy (C) TD _“”E ' () I '
(B) Current and potential difference 12. P # 9 WA S ARl Wi w0 9 &
(C) Work and enerzy (A) oifier @ &l (B) U @ Feee

13, When a ball iz thrown vertically upwards, then at 13. @% T it il oEalEe S o oem W S
the highest point £ ol wad gsas R e
(A) Acceleration 15 zero but velocity s noo=zero . SFR

(A) T & TRY T BRI TRe] OEE T 9 B
(B Acceleration s non=scro but velocity is zero (B) TR AT 2T g A T B
(C)y Bath accclcrat@ and m:h:uzl.n' A FEID (C) T T A o bl o
(D) Both acceleration and velocity are non-zero (D) TEm T 4 W] st ER
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14, Electnic field in a remon 8 E = 3x% NC, where 14, UH £ 9 Fem 89 @ WA g o3y NC A
x 15 m m. Potential difference betwoen pomnts A(S, fien wen & o x dvew # & o g fasgat A,
0} and B, 3) 1 [V, - Vg 0) T B0, 3) & e P [V, - V] # A
(A) &V (B} 27 ¥ AW &
(A) oV (B) 27 V
15. For the part of circunt shown, potential difference 15, e BE o offoer | ﬁlﬁ ATI B+ WA
boetween A and B s PR S -
W‘ A J”:jwtl_f W
310 361
(A) I8 V (B} 21 V (A I8V (B) 21 ¥
v i 24V (Cr27 v (D) 24 ¥
16. Two concentric sdemtical circular coals cach of radins 16, Bl WHS U HAE i;ﬁ"ﬁl -:I_Q-i‘"-'aﬂﬁill Fartes
Bk s _ | e RE g a4 wenfe eara 1,0 w8
with thair planes pe cular carmies aqua
1;' N % UF TEY @ O & oEad W 5 81 a1 &0
| P | | i
currents I, The magnetic ficld at center 15 e BB N o T
F‘-_Iq I'I'I:I'I
A e B) == pel, Bl
2 2 A B
V2R 2J2R (A Br ® > r
"I:III: Fl.'rll I
() D) —F ol ol
2 lf D
Jank 22k ©) Pom ) Ry ey
17.  Dimensional formula of angular momentum 15 ;
(A) [MLAT ] (B) [MLT '] Lie T8 E”'“iz'“_?%” 1 g 4 o i
(C) ML) D} [MLT?]
dy
18, If v = x? sinx. then —— is [ £ dy
2o Rs T Ve i 18, 4§ y = 2 ginx W, i WA B —
(A) x* sinx + x cosx s
(B) x? cogx + sinx (A X" simx + 2 cosx
(C) 2x cosx + simx (B) x* cosx + iy
(D} x* cosx + 2x sinx () Ix cosx + sinx
(D) x* cosx + 2x sinx
SFACE FORROUCHWORK
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19, Acceleration of 3 kg block shown in figure s 19. T wa frg 7 5 ke &0 @0 TOR9T [ @ (O
| Assume wleal conditions | eyl ¥
20 10 -
Ml - ] 20 1 ] ;
(A) m/s (B) =/ & . b s
5442 +2 S B 5.
(C) 10 mfs* () 5 mis® (Ch 10 mis? (D) 5 mis®
20, If a current of 2A is passed through a resistor of | 20, #f2 24 9 o o& 30 ufade & 5 sec o
resistance 362 tor 3 sed. then caleulate the heat uarfed 21 g & A uiies § 99 9 98
produced by the resistor =L
(A 50 W (By 60 W 50 il
(C) 100 W (D) 90 W A" g (R W
(Cy 100 W (D) 90 W
SPACE FORROTCITWORK
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21.

22.

24,

25,

Number of C1= 0 bomds in chlorous acid, chloric
acid and perchloric acid respectively are :

(A)4, l and O (B)1.1and3
(C)1,2and 3 (D)3, 1and 1

3 moles of metal complex with formula Coten) Cl,
gives 3 moles of silver chlonde on treatment with
excess of silver mitrate. The secondary valency of
Co in the complex is - (Round off to the
Mearest inleger).

(A)4 iB)5 (Creid?

The single largest industrial application of dihvdrogen
iy

(A} In the synthesis of nitric acid

(B) Manutacture of metal hydrides

(C) In the synthesis of ammonia

(I¥) Rocket fuel in space research

Crven below are the statements about diborane.
(a) Diborane is prepared by the oxidation of NaBH
wathl,

(b Each boron atom 1sin sp° hybridized state

(c) Diborane has one bridged 3 centre-2-
electron bond

(d) Diborane 1sa planar molecule.

The option with correct statement|s) s

(A){chand {d) only (B} only {a)
(C){a)and (b) only (D) only (c)

Match List- | with List - 11

List-1  List-11

{a) NaOH (i) Acidic

(byBe{OH},  {n)Basic

(cyCal{OH), (i) Amphoteric

() B(OH). (e} AOH),

Choose the most appropriate answer from the op-
tions given below

(A (a)-(a), (b)), (ch-(md, (d)-(i), ()i}
(B (ah<Cit), (b-(i), ()4, (d(iii). (e)-(iii)
(O Gap-(n, (B-Gam ), fel-(u), (d)-(5), (e)-(in)
(D (al-{ai), (b)=(i1), (c)-Cin), (i), (ek(in)

L)

PART B - CHEMISTRY

21.

235,

T A, TEATa aTFe] T Ut are
Cl = O 3= & HeE HH 8 —

(A4 | a=md (B)1, 1 aem3

(C) 1, 28=0m3 (D)3, 1521
Colen).Cl, A @ Hae & 3 e, e mede @
i A sl v R FaEs & 3 Wi
o & | W § Co o fyeiea o & |
(Fraeas gl #)
(A4 (B)3 (L) Gy 7

BIGEEEIEA T T SO wad gEe] e
T &

{(A) st s g Heem

(B) &g & EIEgES & gemad ¥

(C s a1 wyemm

(D) afarfier 2ier & srefe o= o o §

24, FEERA ® v S weE i &

25

(a) NaBH, @1 I gw siiedi oy sEais e
ot e £

(b) W A GEEIT & HEO st B
{c]@ﬁﬁﬂﬁwﬁ@mﬁﬁms@:ﬁmﬂﬁ
TR BT & |

(d) ZEa o e v 2
?ﬁﬁﬁﬁmﬁﬁﬁﬂ?ﬁmﬂﬁﬁfﬁnﬁ
(A)Fae () 7o (d) (B) &2 (a)

(C) et () T (b) (D) only (<)

i - | o T - 13 o i |

List-1 List-11

{a) NaOH (i) aFsia

(b) Be{OH), () am

(c) CalOH), (i) wwuedl

id) B{OH). (e} AlOH),

-1 fan faaeul # % ol ofaq am & g
(A ad-iny, (b)-(in), Ced-in, (d)-di), (e)-(ii)

(B (a)=Cin). (b)=Ciy, ()=, (d)=(iin), (e)=(iii)
(Cha)-Cia), (b}, (e}, (d ), (ep-{in)

(D (a-(u), (h)=(inh, Ceh=(id, (dr(i), (erdiin)

UGHWORK

Piprall Boacl, Sikar -33280 (Rajasthan), Comeact Moo 94033 23 444, BHTR0 LY Do, 500 17 358K

Page# 7



MAVIEEVAN OLY MPIADSAMPLE PAPER

26,

27.

29,

0.8 g of an orgamc compound was analysed by
Kjeldahl's method for the estimation of nitrogen, 1
the percentage of nitrogen in the compound was
found tobe 42%, then how many ml of 1 MH.S0O,
would have been neutralized by the aminonia

evolved dunng the analysis
(A)12 (B)24
(C)18 (D) 36

A source of monochromatic radition of wavelength
400 nm provides 1000 7 of energy in 10 seconds,
When this rachation falls on the surface of sodium,
x # 107 electrons are ejected per second. Assume
that wavelenceth 400 nm is sufficient for gjection of
electron hom the surface of sodmummetal. The value
of ¥ 15 {MNearest integer) (h =
6.626 =« 107+ Js)

(h=6.626 = 10-* Is)

(A)2(B) 3 (C)y4+ (D)5

For the reactionA+ B —= 2C

the value of equilibrium constant is 100 &t 298 K If
the initial concentration of all the three species 18
| M each, then the equilibrium concentration of C
igx < 10 M The value of x 15
(MNearest integer)

(A)25  (B)S0  {C)75
For the following graphs,

T

Hals

(a)

(D) 100

Time —

ib)

Tl
COncenmrtien

26,

b i 8

wEfE G @ 0.8 g o TR o Sesid
Rl 91 smavas T | afg @il § sigees
& uieerr 42% & o fagerym o gor= apnfa 4 1
M H_S0, =7 frn ml =i 8 g st
(A)12 (B)24

(C) 18 (D) 36

400 nm TS & vl oo = v wE 10
Hihs W 1000 ] S W & | o as i
Al o were g geen & o xo 10" s ufi
Hhw aeEfild g &) W= i i wieam ag
a1 TOE ) aeera W e 400 nm - avrdet gt

# | x T A B | (Fraream g
H)

(h=6.626 = 10-* Js)

(A)2(B}3  (C)4 (D)5

afifir A+ B = 2C © fow 298 K & ¥
e &1 e 1008 | afF &= wiefra & 9 et
&1 URfaE \=gar | M8, o1 C &1 | ey #
W o= [EME | x FIAEE

g1
(Fraea goiE )
[(A)25 (B} 50 ()73 (D) 100
29, frer oWl & o
Rale
(a)
Teiwe —
tl -
ih)
[mduzal
camceniralum
UGHWORK

Tl B . HICAN

Piprall Boacl, Sikar -33280 (Rajasthan), Comeact Moo 94033 23 444, BHTR0 LY Do, 500 17 358K

Page # 8



MAVIEEVAN OLY MPIADSAMPLE PAPER

31.

=
E
:
(c) 2
Time
E
E
3
(d) 5
Time
Fate
(e
Concemmisnn

Choose from the options given below, the comrect
one regarding onder of reaction is -

(A ) (b and (d) Zero order (e) First order
(B){a)and (b) £erc order {e) First order

(C){b) Aeroorder (¢) and (&) First order

(D) {a)and (b} £ero order (¢) and {e) First order
Assuming that Ba((¥H), is completely ionised in
acueons sohstion under the given conditions the con-
centration of H,O iens in0.005 M aqueous solu-
tion of Ba{OH), at 298 K is = 107 mol
L' (Mearest integer)

(A0S (BYI(C)2 (D)5

[dentify the process in which change in the oxida-
tion state is five -

(A) C.0; — 2C0,

(B) CrO3 —» Cr™

(C) CrOo;, — 20"

(D) Mn(y, — Mn™

31.

{c)

L omeeniTatremn

Time

LConceniratun

=
="

Tume

Rade

{e) {Concentration = WIigHT,

Concentration
Rate =57
e faw T flEodt | | we fawes, sffra i
& e 4 gy
(A) (b) T (d) =1 HifE (&) 1o Fife
(B) (a) wen (b) =71 wife () wers wifi
(C) (b) T8 FE (¢) T4 (¢) 599 HIiE
(D) &) =0 (b) S @IS (o) wen (e) vaw Sife
g ) ) ufRef | Ba(OH). #) @elta e
§ o R AW @ 0.005 M BalOH), @
sty e 1 298 K ow, H 00 s af srsm
£ « 107 mol L | (Fraeam g #)
(A)05  (B)1(C)2 (D)5
ueRA Fored it arEen § aifadq o= & 92
&

(A) C,0
(B) CrQ; = Cr™

(C) Cr.O; —2Cr™
(D) MO, — Mn™

» 200,

SPACE FORROTCHWORK
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32,

35,

In a solvent 0% of an acid HA dimenzes and the

rest dissociates. The van't Hoff factor of the acid is
< 1077, (Round off to the Nearest Integer)

(AY123  (BY10O  (C) 130 (D) 200

Criven below are bwo statements | one is labelled as

Assertion A and the other iz labelled as Reason

R

Assertion A = 50 (g} is adsorbed to a larger

extent than H_{g) onactivated charcoal.

Reason R ¢ S0 {g) has a higher cntical tem-

perature than H.{g).

In the light of the above statements, choose the most

appropriate answer from the options given below:

{A) Als not comect but R is correct

(B Both A and R are correct and B is the correct

explanation of A

(C) Both A and R are correct but R is not the cor-

rect explanation of A,

(D) Ais correct but B 13 not correct.

The distance betwesn anoclahedral and tetrahe-

dral void infn:c]:&triue wioulld be -
= 3 3 3a
(A} 3a (B) ‘f:a (C) {-‘* :m":

A sample of air is saturated with benzene {vapor
pressure= | 00 mm Hg at 298 K) at 298K, 750mm
Hg pressure. Ifit is sothermally compressed to one
third of s initial volume, the final pressure of the

system is
(A) 2250 torr (B) 2150 torr
(C) 2050 torr (D) 1950 torr

Anideal diatomic gas is caused to pass through a
evclic process involving reversible process shown
on the

P-V diagram in figure, where V, =3V, IfP. V|
and T, specify the state-a, then the temperature of
gas (1) at the state-cis -

32,

35,

UF fdamEs H, 06 aF HA &1 50% fRadien
s & 9 fawifem st & ) amm & fore e BT
o & = 1077 (P gl #)
(A)125 (By100  {C) 150 (D)200
Ara e A e T R B #

T A Ho(g) 31 aren SO () 1 BT S
e vy sl wen f g &

& R :H (g) & amen SO (g) @1 ik g
Ied BT £

A g Frars & 9 i afra g g9 )
& ferg a0 -

(A) A A T8 & oo R AR &)

(B) AT R 3T A € ofiT R, A &7 Wt =mem
g1

(C) Aw=nR AT |81 & 3w R, A @5 921 @
Tel & |

(D) A & 2 ut=g R w1 #

FCC e 7 sty oo Sk Rt
& e g B

3 Ja 3
@) i (B L2 ﬁ:::IJ_T :n}%

208 K, 750 mm Hg ™ a9 & &% TF &1 4904
(298K uT amy = = [00mm Hg) & S g
i w81 afE e e gaa urEh snes
& ek foeT oF wwene w9 wiEd i wen
& o P @ sl om P -

{A)2250 tomr (B) 2150 torr

{(C) 2050 torr (D) 1950 torr

ud fEmamitas amest d9 & ve afEa Tare
U @ R T @ & uen PV sm g
ol ¥, Wl V, =3V, ¥ 3fg P, V, am T,
Arovert-a i it @t 2, ot | @ A (T,)
AqRET-¢ 7% B

UGHWORK
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37

-

L iLH

P
IE‘IH'!-" ol
. i
Vi Vi
W
(A ["_] ® f_J
W3 3

ol o)

The [UPAC name of the compound is

(A)ZE, 4E, 6 =0¢ta-2. 4. G-1riene
(B)(2E, 4E, 6E}-ocia-2 4, 6-triene
(C) (2. 4E, 6)=0cta=-2 4. 6=Ireng:
(D} i2Z, 4Z, 64 ]-octa-2 4, b-triene

Arrange the fellowing compounds in order of

decreasing rate of hydrolysis for 5,1 reaction:

oOrove
(nHC @EHE-Er
qu EHa—EHE@EHE—EIr

CHa

CH CH.-Br
{"""}UI}‘;’ g

A= = = 1B W =1 ==
=== Oy =1 ==

L)

37.

38,

u y v *
Wt el
ek o (L)

it @ IUPAC =1 &

—

(A)(2E,4E, 62 )-0c1a-2. 4, 6-triene
{B){2E.4E, 6E}-octa-2. 4, t-tricne
(C)(2Z, 4E, 6Z)-0cta-2.4. 6-triene
(D22, 47, 62 octa-2.4,6-tnene
Ffafen el & s, afefem & fae
GEaTEEA & g2 & "ol 'Y w4 el e

{n @—EHE—Br
(I H,C —@—Cl-lfﬂr
) CHE—GHE—@—EHE—&

lf'l |
H‘{‘.H‘@*EHE—EIr

A== =18y IV == =]
=== Cyl=l=m=I

UGHWORK
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39,

Which of the following Is electrophile in Reimer
Tiemann reaction

(&) : CCI, {B) gma
(C) PhOM (D} :CH,
ldentify diastereoisomer in the following are :
H CH,
Cl—t+—CH, H————1
We— 1+ o g—1 @
H CH,
CH. Cl
H——— (] CH——H
(B) cH————H CH—T—H
Cl Cl
CH, CH,
H Cl
H—Tp—0
©) H ¢ C—t—H
CH, CH,
CH,
CH. ¢l
H Cl % aH
(D) ol
H Cl Cl CH,
CH,

38, e o 9 ool wgme—de s seedia

el &
&
{A) 1 CCL (8) CCly
(C) PhOH {O): CH,
40, amfafire s wEread) geaE |
H CH,
(A |—t+—CH, H————11]
}EI——C‘H-. H———11
H CH,
CH, ¢l
H——a— (| CH—T1—H
(B) ¢ H CH—T—H
Cl Cl
CH. CH,
H Cl
H—t—
I:E','I H Cl Cl H
CH, CH,

CH, :
iy CH,
(L) !
H C Cl
CH,

Cl

~| d
-
M E'H-,

UGHWORK
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4

42

43

44

<5

46

47

What s the male reproductive organ of a Dower?
{B) Anther
(D) Sevle

The process of pollen grains transfer Trom the anther
to the stigma of a Nower is called;

1B} Pollination

L) Orvulatson

(A0 Stgma
{C) Ovary

{A) Femiluzation
{0 Cernunation

Which of the following is not a method of =cll-
pallinatson in Nowers?
{A) Cleistopamy { B Wind pollination
(T Geltonagamy (¥ Autogan

In which part of the Mower's pistil docs Fertilieaton
occur?

{A) Uvary {B) Stvle
{D} Ovule

Thiz fustom of male and female gameics during sexual

(T Sligma

reproduction in flowering plants lcads to the

Formatson of

{A) Embrvo {BY Zvpote

() Endosperm (¥} Secd

What 15 the site of fertilization in hamans?
(A} Uterus {(B) Ovary

(C) Cervix {0} Fallopsan mbe

Which bormone is responsible For the development
of male secondary sexual charactenistics?

(A0 Luteinizing harmone (LH)

{B) Follicle-shimulating horovome (F5H)

{0 Testosharong

(D} Estrozen

PART C - BIOLOGY

4l Sl @AY A S S
{A) aff®rd {B) TTET
() AR I EIGED
42 TRETEE A OO & gfiErE U e
WA HEETT -
{A) FFriee (B ) TETT
(C) 3l (D) ST
41 Fr=t 4 9 il w8 ot 3 e @ IR e 8
(A AT (B) I TRETA
(C) T (D) TR
44 um & FEET & wE | o9 # e s #
{A) AUy {B) aftian
{C) TR (D) dras
ERT L R e o B R B O O
TE & Hage Frefataa @ et & e
(A) qM (B) T
(CygT 9y (D) A
4i wa A Ao e -
(A) T (B) SvHT
{C) e
(D et i (Feaarfaat st
47 = e A ot @ fe S oo
B -
(A wmgfsfn gela
(B ey aown dal
{C) ST
(DY) TR
UG H Wik Kk
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48 Which hormonc is responsible for ovalation in 48 HI51 # SvEcET By Faval GiHE—
females!
{A) Luteanizing hormione {LH} () wfETEfia B
{B) Follicle-stimulating hormone (FSH) (B) qeeta s g
{C) Progesterane (C) WA
(D} Estrogen (D) TR
44, What is the term far the process by which a mature 49 ufikn freas g v ufada UG HOFTI H
cpe i released From the ovary? Hifer g &—
{A) Fertilization {13} Implantation (A) Pt kL
{C) Ovulation {0} Menstruation (C) STosreTT (D i eyt
Rl What 15 the Lerm lor the process by which a fertilized 1 uftkan Faad e v el sy ey o
cege implants fself n the wall of the wens? Rrfer & gemefe g &—
{A) Fertilization {B) Implantation (A Pl {B) 7
{(C) Ovulation (D) Menstmation {C) am=read (D HifEE e
il What iz the Tunction of the prostate gland in males? 51 ErEic T gree aofit & 7 & &
{A) Production of seien (&) SETOSH ST
{B) Production of {ostosterong (B} TR W T
{C) Seorction of lubricating ued during mbercourse (C) :"ﬁ;::!' o o P 1 | () O ] B [ L)
(D) Nome of the above (D} aade # A wE a9
52 What s the unction of the seminal vesicles im males” 57 epTeE /i ftama @ A A am aml -
(A Production of semen (Al w;aﬁ T FAEA
(B} Production of westosterong () RS O ETE A
{C) Secretion of lubricating Muid during intercourse {C) Ao & T FiEd gal &1 E=E
{0} Mone of the above (D) SOy @ © S T
23 What is the term for the shedding of the lining of | 53 wreTall 1 ot of) s s o R g B
the wierus m females?
{ A Fertilieation {B) Implaniabion ¢ A i (B A
{C) Ovulation (D) Menstruation () A (D) T T
SPACE FORROUTCHTWORK
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54 Which hormone 15 responsible for mamtaining the 54 M © EE THET A WO aE
liming of the wierus dunng pregnancy™ T %Th[. TR A —
{A) Luteinizing hormone (LH) (A) SfEATEhaT g
{B) Follicle-stimulating hormone (FSH) (B) e ST B
{C) Progesterone {C) WA
(D Estrogen (D) A
55 What iz the lerm for the surgical stenlizanon 55, ywE | grentid f s g2y anan #
procedure in males! T ATl # SEarl §
{A) Vasoctooy {18y Tubal ligation (A Wﬁﬁ—ﬁ_ﬁl (B e
{C) Hystercctomy {D¥)} Mone of the above (C)AAfere wewm ffr (D) 99de # % o
=2
56 What is not a reproductivn-related problem? 56 WIFET WHEN G W R e
(A} 5TDs {53 Abortson {A) 1= HaEitE 91 {B) T
{C) Global warming (D} Tnfertility (C) firgmendt 9@ (D) =T
57 What test s used (o determine the sex of the faus? ) quy & o P oy At wim-
{A) Ammocentesis {B) Amyvhodogenesis {A) TeeaaEe (B) vhferarstatiim
(€) Amnioaic (DY) Fhuidic (C) T (D) wedie
58 Amniocentesis deals with pattemns of ____inthe | 8 Oeedm qaPrfew g 84 9
ammiotic Muid A &
{A) fingers {B}DNA (A) St {ByDNA
{C) chromosomes {D) peateins (Cy T (D) WIEH
$9.  Saheliis _ contraccptive. 9. WEdl__ RS §)
Adoral B miravenous (A Hifre () 3im: R
C) topical (I} vaginal (€} wEiE (D) =
SFPACEFORROUTCHWORK
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fill Sahch was devoloped by sclentists a1 il G F i mfamr & g weedT @
India. formfimer fawm Tran
{4} Indian Instriule of Science {A) Aot fsms Oeene
{B) Indinn Institwie of Technology (B vl et s
{C) Central Drug, Research Instiwte {C) S simo SR W
(D} Acropolis (D) uafEra
6l I & genctic discase &5 transferred from a . ufE vE ﬁl@ﬁ]ﬁ T AR O W HRE
phenotypically normal but carner femals o only some tifiF=1 TR AET | aaE ] 7 HAferE R
of the male progeny, the disease is B o1 9 &
(A} atosomal dominant { Ay arferft oo
() autosomal recessive { By b s
() sex-linked donumani {C) RETT—TBer=1 ot
(D) sex-linked recessive. (D) et psetet s
62 In sickle cell anacmia glutamic acid is replaced by | 62 gra e aprato A O #§ i a9
vitline. Which one of the Tollowing nplets codes wiererma=1 el el fELffl'_-ﬁiT.- W BT ERT R
for valine ? e B R R O T T R R
T #|
(A GGG (BIAAG (A) GGG (B}AAG
(C)GAA (D} GUG (CHOAA (D) GUG
03 Person having genotvpe LA 1B would show the blood fad [* 1wl Wy HIH AB ST HHE Gl
group as AB. This s because of T @A &1 U s & i
{ A} pleiotropy (A) TEERITTE
{B) co-denmmance (B) FTERATRRT
(C) segregation (C) Rerpm
(D} incomplete dominance (o sed wafan
e LW tvpe of sex delerminaion is seen in & ZZZW Ter Freateor S o €
{A) platypus { B} znails (A) wifeTs {B) e
{C) cockroach {D} peacock (C) fereraee (D) AR
SPACEFORROUCHWORK
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a5 A cross between two tall plants resultcd m offspring | 65 T TR OOl & He U @ BEeaEd 5 Al
having few dwarl plants. What would be the arley Jer— @1 SR @ W MY BT |
genotvpes of baoth the parents *
{A)TT and Ti (A)TT 7= T
(B Teand Tt (B Tt 5=01 T
{C)TT amd TT (C)TT =0 TT
(D Tu and It (D) T It
G [n a dilwbrid cross, if vou get 9 ;30 3 0 | ratio ot Gh o O 493 3 | W BF & 9% SEh -
denotos that
{ A} the alleles of two gencs are intcraching with coch (A) T T T T Tﬂ"‘.’ o A T e
other FTIREI
(Bt 15 a muliigenie mbertlance (B) e w qﬁuﬂ'-i'l i &1
{C) 1t 15 a case of multple allelism (C} UE qg{iﬂﬂﬁduﬂm a1 " &
(D) the alleles of two gencs are segregnting
independently; : :
pendentl; (DY AT W & TETE Taa B H UEE E T
67 Which of the Fallowing will not resull m variations e fere=fafin 6 @ Fpd oRvrsm sy 518 gd &
among siblings 7 Ryeeram e 3T |
[
(A} Indepondent assortment of 8 —
} Indepe i (A) S F T awET # e
By Crossing over .
tRkrosmg on (B i i @ g
) Linka
EL) Hinkaeg {C) TR & W
D) Mutate
10} Mutatian (D) wegiRed= & o
it Mended™s Law of ind haslds pood . .
et SHNMpCICORE Mot I s 68 VEd @ W SUEE & R 9 o &
for genes situated on the ﬁqm?ﬁﬁﬁﬂﬁﬂﬁmf
; : i I B—
A} non-homologous ch '
(A} mon-homologous chromosomes () ST TR T
(B hoanologous chromosomes R
B} HHATT ONTET T
) extra nuclear genetse element ,
(<) eten mmalear (C) st st srgaiie e Ox
h
(00 same chromoseme (D) A A R
SFACE FORROTCHWORK

Piprall Boacl, Sikar -33280 (Rajasthan), Comeact Moo 94033 23 444, BHTR0 LY Do, 500 17 358K

Page# 17



MAVIEEVAN OLY MPIADSAMPLE PAPER

il Occasionally, a smgle gene may express more than E] G o s ) A ) s < 0 vl e
ong cffcet. The phenomenon 15 called T HE & F9 GSAT B FE] @0 b
{A) mltiple allelism (A) e e (B Hrargfa
{B) mosaicism (C) FEwT (D) gL
{C) pleiotropy 70 iafEa= fwe wamem &) F, O 4 dgo e
(D} polygeny. ure 7 e adr g
70, Inthe F2 generation of a Mendelian dihybrid cross (A) TI&TT UTRT — 4 GHFTHIER - 16
the number of phenotypes and penotypes are {B) TR WY — 9 TR - 4
{A) phenotvpes — 4; genotvpes — 16 (C) FETT WTHY — 4 WFTHIEA — 8
{B) phenotypes — 9 genotypes — 4 (D) FET UTRY — 4 STHEY — 4,
(T} phenotvpes - 4, genotvpes - B 1. ﬁ‘ﬁﬁﬁﬂ#ﬁﬂﬁwmﬁm
(D) phenobypes — 4. penofvpes - 9 e 87
7l Which of the following is. oot-a component of a (A) gl A
mucleotide? (B) T W
(A} Nilrogenous base  (B) Phosphate groap (C) REsToT 2T
{C) Ribose sugar (D) Deoxyribose sugar (D) B T WA W
72 Which of the fallowmg mitrooenous bases 15 found T2 = & 9 @ w1 TEchEdl 6 doa RNA H
omly m BN AT ORI S #
{A) Adenne {B) Thvmme (A) T3 (B) ==
{C) Uracil {D) Guanine (C) gl (D) 7T
73 The shape of DNA melecule is: 73 DMA S W1 HiT &)
{A}linear {B) circular (A) tedin (B) TTETT
{Cy helical (D) none of the above (C) TEfET (D) = # Fird
74 In DA, which of the following nifrogenous bases 4 ona ¥ Frefates 4 & - -_ﬁﬁlﬁﬁ 12
pairs with adenine’? TERE @ e ﬂ"ﬁlﬂ AR
{A) Thvnine {B) Cviosing {A) SITTHT (B) AECTREA
{C) Guanine {D¥} Uracal (Cy T (D)
SPACE FORROUTCHTWORK
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75 The process of DN A replication s somi-conscrvative ) DA H'iil@h!t'n?':'l araprelt & Fuifis—
hocanse:
{A) The two resulimg DNA molecules are identical i A O =T DNA T &
{ B} Each resuliing DA maolecnlke contains one sirand (B @ gfrE DNA <L i el DNA 3 o9
from the ongnal DA modecale U Y[ &
{C) The process invalves the creation of new DNA {C) &8 ufiFm A T8 DNA Y an Fysfer T
strands from scratch CRDIR
(D Mome of the above (D1 F 7 | Fig T
6. The genetic code is composed of. 76 aEife @ A g o f-
{A) 2 letters {A) ST e
(B 3 letters (B) 7T e
(O 4 lelers (O} T 3BT
(D) 5 betiers (D) Oi| 3E
77 Which of the following s an cxample of o pomnt | 77 Termstfeaftrer 4 mf an fileg gefians @ aomeo 1
muiagion”
(A Deletion of a singke nucleotde (A) v “af¥aaiess P
{B) Addiion of a single nucheodide (B) TFA rqll-dolui-:lﬁ-s # o=
{C) Substitutica of a zingle nucleobde (C} T m #1 yhEmrys
(D} All of 1he above (D} &8 § B TE
T8 Which of the following is nod inveldved in fhe process 74 Freferfiam & & T Eﬂﬂﬁ'ﬁ? =t gl & wfnfem
al’ transcrplion’ e
e (A) RNA st
(B) DNA polymerase (BY DN A i
{C) Promoter regron (C) e 8
(D} Terminator region (D) 2ffTET £
SFACE FORROUCHWORK
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™

Hul

Which of the following 15 not a ovpe of ERAT

(A} Messenger BNA (mBRRNA)

{B) Transter RNA (tRNA)

{C) Ribosomal RNA (rRMNA)

(D Deowvribomeclew acid (DMA)

Which of the lollowing is e function of t(RMA?
(A0 To cary amino acids (o the nbosome For prodein
svailhicsis

{B) To transenbe DNA into RNA

(C) To corry the penctic code from the necleus o

the cyvtoplasm

{0 Mome of the above

™

#0

fefoifiam & | @9 & DNA & W T8 i
(&) HETAES RNA (mRNA)

i B) T RNA (IRNA)

{C) wIEEIHIE RNA ((RNA)

(D) Sl wdl=galong s (DNA)

forer # & F w0 RNA S walte
(A) W HEe™W &Y TEErEE O o s
T T |

(B) DNA T RNA 7 3Tl

(C) FF ¥ I 0 T ATEiTE wE W
T

(D) &7 @ e ad

UGHWORK
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